4‘_( ‘ iy, INSTALLATION INSTRUCTIONS
YX16-40002 Hood Light Bracket

REVA-07/31/23

Kit Contents:

1x Lower Bracket

1x Unper Light Bracket
2 X M6 Nut and holt

2x 5/16 Nut and holt

COMPATIBILITY:
2019+ Yamaha YNZ1000R

STEPS

1) Removing the Front Hood section makes the install much easier hut is not required. There are
two holes in the frame as seen in the photo helow. The lower hracket will install onto those
holes with the supplied M6 nuts and holts.

l“"- ,_._E.-.. "

.

2] Iithe hood was removed, tighten the 6mm holts and reinstall it. Now, attach the upper bracket to
the lower hracket with the supplied 5/16” nuts and holts. Once that is complete you can mount

your choice of pods or light bars to the upper bracket slots.
— _

Page 1



